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The fignires m the margin indwcate full morks
far the questions
L. fn} State and explain briefly the various
types  of  diagrams used in the
presentalion of data. =]
Cir

fb) State and explain briefly the various

types of tables used in statistics

2. faj Find the interquartile range and the
coefficient of quartile deviation from the

following data : 9
Marks in Slalisties Ne. of Students
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Cr

fi) From the following data, obtain the two
regression equations :

a ——— e —
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3. fa) State and explain the various types of
index numbers. Discuss the uses of
inndex numbers. S+4=4

i

() Construct index numbers of prnice rom
the following data b}r Hp]]l.j’iﬂg—

fii Laspeyres method,;

{i) Paasche method;

fii) Bowley's method;

{ivj Fisher’s ldeal method;

i) Marshall-Edgeworth method.
1+2+2+2+2=0
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4. fuj Discuss the different methods of
measuring seasonal vanatons moa ume
seTles. !
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Cir

fhl The data below given the average
guarterly prices of a commodity of four
yvears, Calculate seasonai indices for the
fellowing ume scries data using the
methed of link relative :

Cruartar C 1O ] 1992 1993 [ Citig
Chcarer | . 1 ) Iy 34
Chuarter [T J 21 23 24 27
Caranter {1 . 17 17 23 24
Cuarter IV ¥ it 32 a0 1

5. fa) Explain the different definiticns of
probability and state their limitations, if
ATy 6+3=0
ir

fb} The probability that A can solve a
problem is D7 and the probability that B
can  solve thal problem i3 06
Consudering thar these wo events are
independent, find the probability that the
prublem gels solved by either of them. )

o
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The figures in the margin indicate full rrarks for the guestions

Answer all queshions

1. Indicate whether the {ollowing statcments arc True or
False by putting a Tick (¢} mark in the brackets
provided - I=5=5

fa}  All facts numerically expressed are sfatistics.

True { ] Fajze | ]

fh) A sample is less oxpensive than a census.

True i I False [ I

/468
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fc) Mean deviation 1s Jeast when devialions arc
taken from median.

True [ | False | |

{d) Bowlev's index is the geometric mean  of
Laspeyres and Paasche Index.

True [ ] Faise [

fe} SBecular trend refers to the long-rerm movemnent.

True | ) Falze | |

L

2. Put a Tick [+) mark against the correet answer in the
brackets provided ! 1%5=2
fa) Diagram and graphs are tools of

fil collection of data { ]
fii} analysis [ I
(] presentation | ]

fit) summarization {( )
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b} The coellicient of correlation

fif  has no himits L

fij can be leas than -1 i
fiif] can be more than 1 E
fiv) varies between £1 {

fc) I with a tise of 10% in prices the wages are
mnereased by 20%, the real wage increase is by

il 10% i

fii) more than 10%% ()
fiff} less than 10% ( |
frarf  20% { ]

{d) In the least square linear trend equation
y=a-bx if bis positive. It indicates

{i) declining trend i
fil  rising trend [ }
fuy) no trend at all | ]
fii)  All of the above | )

fe) 1F two events A and B are independent, the
conditional probability that they will both secur is
given by

i P{A) - PIB [}
i) PlA) = P(B) P
filf} P{A)- P(B] | )

fivl PlA)x PIB)+ PLAB) ¢ 1
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3. Ful in the blanks : 1=5=t

fa) Standaro Devietian 15 2 MCESATE

fb) Given mean 235, mode 24, the median would

D dicsass

fcf When we shit the trend eorigin, the value

0 | ST T

fd} Marshall Edgeworth  index number sabshes

fe} If o card is drawn from a pack of cards, the
probability of getiing either a king or queen

Br/B5%-4G037368
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4. Answer/Write short notes on the [ollowing not
excecding 3 sentences cach Ax5=10

fe} Pilot Survey of Prelcst
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M) Distinguish between  Primary  data  and
Secondary data.
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fe] Coefhcient of correlation
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{dj Index number

Be/BS-003/468



(2]

fe) Distinguiish between Repression and Correlation.
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